
Gunyavy O. A. Approximation of the fractional part with help of trigono-

metric polynomials. In the article approximation is built to the fractional part through

the trigonometric polynomial of minimum degree.
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eD
2 + 1

) (

1
2 lnE + 1

)

≪ D lnE
ψ(x)− Td(x) = ψ(x)− Sn,m(x)

ψ(x)≪ 1/
√
m

ψ(x)− Sn,m(x)≪ |ψ(x)|
(2n+ 1)2m−1

+
1

(2n+ 1)2m
≪

≪ 1√
m(2n+ 1)2m−1

+
1

(2n+ 1)2m
≪ 1√

m

(

2

eD

)2m−1

+

(

2

eD

)2m

=

=
e√
m

1

e2m(D/2)2m−1
+

1

e2m(D/2)2m
≪ 1

e2m
<

1

E
.

1/
√
m≪ ψ(x)

ψ(x)− Sn,m(x)≪

≪ 1

m|ψ(x)|[(2n+ 1) sin(π‖x‖)]2m−1
+

1

[(2n+ 1) sin(π‖x‖)]2m ≪

≪ 1

[(2n+ 1) sin(π‖x‖)]2m <
1

e2m
<

1

E
.

ψ(x)

∑

a<n≤b

ψ(f(n))


